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EEC-13 : ELEMENTARY STATISTICAL
METHODS AND SURVEY TECHNIQUES

Time : 3 hours Maximum Marks : 100
(Weightage : 70%)

Note : Attempt any two guestions from section-A.
Four from section-B and two from section-C.

SECTION-A
1.  What do you understand by statistical
inference ? Differentiate between point and
interval estimation. Explain properties of a good
estimator. 7+7+6

2.  (a) Explain the concept of regression. 5+15
(b) From the following data obtain two linear
regression equations.
X|1]12(314]|5[6]7]8]9
Y9]8 [10)12f11[13]14[16[15
Estimate the value of Y when X=6.2.
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3. (a)

(b)

Explain the factors that determine the
sample size. 10+10
A population consists of 75% rural and 25%
urban people. Given that population size
is 50,000, determine the required sample
size. (Assume that desired precision and
confidence levels are 1% and 99%

respectively)

4, How do you construct Index numbers ? Discuss. 20
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10.

SECTION-B

Explain the procedure of drawing a simple 12

random sample.

(a) Differentiate between Bowley’sand Kelley's 4+8
measures of skewness.

(b)  From the following data, calculate Bowley’s
coefficient of skewness.

Less

. 200 - 40 00 -600
Income (Rs.) than 200 0 0 1400-6
Persons (Nos.)| 25 40 80

above

) 00 - 800{800 - 1000
Income (Rs.) |600 - 800/800 - 10 1000
Persons (Nos.) 75 20 16

What is meant by dispersion ? What are the 12
common measures of dispersion ? Explain the
concepts of variance and standard deviation.

Compute mean deviation from mean of the 12
following data :

116, 87, 81, 98, 102, 97, 100, 105, 101, 115, 98,

102, 98, 100. )

Define percentiles. How do you compute 3+9
percentiles ? Explain.

Differentiate between frequency polygons and 6+6
ogives. Explain with the help of groups.

EEC-13 3 P.T.O.



11.

12.

13.

14.

SECTION-C

Write a short note on multiple bar diagram.

Differentiate between primary and secondary
data.

What are the important stages of a statistical

enquiry ? Briefly explain.

Write a short note on Chebychev’s theorem.
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3. (a)

(b)

gfiyest % 2THR H1 40 HE 9 SRS 6

10+10

quiq HifeIy |

Tyt 8 75% Trfior 3R 25% wedt st wiferd
£\ 7ef 9wl #1 AR 50,000 ¥, 3TafEa wlaes
AR 1 Tuie Sifsg | (9 Sfsie fo aifed
afigrgan iR favareaan W FRT: 1% 3R 99%
€)1

4. g F1 T 9 FH F@ E? == RIS
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HTT-@
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6. (a) R SR Fe F dvem AT F o A T 448
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wRewfaa Hifsay
A (T)  |200 & f=( 200 - 400 400 - 600
=faq (9.) 25 40 80
1000 &
AT (T) | 600 -800 {800 - 1000
Aftrwm
aﬁa(#.) 75 20 16
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FifSw )

8. frfafad sifwdl & mea § meg faem stfrsforg 12
HifSy

. 116, 87, 81, 98, 102, 97, 100, 105, 101, 115, 98,
102, 98, 100
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il.

12.

13.

14.

-1
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